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 4400000-20000-10000-10000= 400000

alhadi
Pencil

alhadi
Pencil

alhadi
Pencil

alhadi

ج

alhadi

أ

alhadi

ج

alhadi

ج

alhadi
Pencil



alhadi
Pencil

alhadi
Pencil

alhadi
Pencil

alhadi
Pencil

alhadi
Pencil

alhadi
Pencil

alhadi

أ

alhadi

ب

alhadi

ب

alhadi

ج

alhadi

ج

alhadi

د

alhadi

ب

alhadi
Pencil



alhadi
Pencil

alhadi
Pencil

alhadi

80000*10% = 8000
80000-8000 = 72000
72000*1% = 720

alhadi
Pencil

alhadi
Pencil

alhadi
Pencil

alhadi
Pencil

alhadi
Pencil

alhadi

د

alhadi

د

alhadi

ب

alhadi

ج

alhadi

د

alhadi

ج



alhadi
Pencil

alhadi
Pencil

alhadi
Pencil

alhadi

40000*10% =4000
4000*3/12 = 1000
40000+200+1000 = 41200
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60000*6% = 3600
3600*3/12 = 900
60000-- ــ 900 = 59100

alhadi

ب

alhadi

د

alhadi

د



alhadi
Pencil

alhadi

50000*10%= 5000
50000_ ـــ 5000 = 45000
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100000*10% = 10000
100000 -- 10000 =90000
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